THE BOARD OF SUPERVISORS OF THE COUN ACTION AGENDA SUMMA	
DEPT: Public Works	BOARD AGENDA # ^{* C-2}
Urgent Routine	AGENDA DATE September 9, 2008
CEO Concurs with Recommendation YES NO (Information Attached)	4/5 Vote Required YES 🔲 NO 🔳

SUBJECT:

Approval to Award Contract to George Reed, Inc., of Modesto, California, for the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151) and Increase Appropriations in the Project Account

STAFF RECOMMENDATIONS:

- 1. Award contract in the amount of \$3,612,027.23 to George Reed, Inc., of Modesto, California, for the construction of the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151).
- 2. Authorize the General Service Agency Director/Purchasing Agent to execute a contract in the amount of \$3,612,027.23 with George Reed, Inc.
- 3. Direct the Auditor-Controller to make the necessary budget adjustments per the financial transaction sheet.

Continued on Page 2

FISCAL IMPACT:

Costs associated to assure the delivery of this project in the amount of \$4,018,027.23 (\$3,612,027.23 contract, \$30,000 construction engineering and administration, \$15,000 material testing, and \$361,000 contingencies) will be satisfied with Federal Surface Transportation Program (STP) funds of \$3,256,660.23 and local match funds of \$761,367 available from the Public Works Roads Fund and programmed in the Fiscal Year 2008-2009 Public Works Road Project budget. There will be no impact to the Stanislaus County General Fund.

BOARD ACTION AS FOLLOWS:

No. 2008-647

On motion of Supervisor O'Brien	, Seconded by Supervisor <u>Monteith</u>
and approved by the following vote,	
Ayes: Supervisors: O'Brien, Monteith, DeMartini and Chair	man Mayfield
Noos: Supervisore: Nono	·
Excused or Absent: Supervisors: None	
Abstaining: Supervisor: Grover	
1) X Approved as recommended	
2) Denied	
3) Approved as amended	
4) Other:	
MOTION:	

ATTEST:

CHRISTINE FERRARO TALLMAN, Clerk

File No.

Approval to Award Contract to George Reed, Inc., of Modesto, California, for the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151) and Increase Appropriations in the Project Account

- 4. Authorize the Director of Public Works to execute change orders in accordance with Public Contract Code, Section 20142.
- 5. Upon project completion, authorize the Director of Public Works to accept the completed improvements and perform all necessary closeout activities.

DISCUSSION

The Federal Regional Surface Transportation Road Resurfacing Program A project will consist of placing a 0.12' (1 ½") thick asphalt-concrete overlay on road surfaces creating a smooth, durable, water resistant pavement surface. This treatment is intended as a 10 year treatment. Shoulder backing will also be placed to stabilize the shoulders and eliminate any surface inconsistencies that the new surface may create along the edge of pavement.

There are a total of 29.88 miles of roadway being resurfaced. The bid package has been split into a Base Bid and four Bid Alternatives. With the cost of oil fluctuating on a weekly basis, it was essential to allow the County a financial flexibility for this project because the Federal grant money is a firm number. Once the bids were taken, a decision was made as to what could be afforded based upon the funds set aside for this project.

The following roads are to be resurfaced:

Base Bid

- 1. Claus Road from Claribel Road to the Burlington Northern Sante Fe Railroad Crossing
- 2. Claribel Road from Litt Road to Albers Road
- 3. Tully Road from Pelandale Avenue to Ladd Road
- 4. Carver Road from Highway 219 to Bangs Avenue
- 5. Dale Road from Highway 219 to Ladd Road
- 6. Main Street from Monte Vista Avenue to Gratton Road
- 7. Fulkerth Road from Faith Home Road to N. Washington Rd.
- 8. Hickman Road from Keyes Road to Monte Vista Avenue
- 9. Gratton Road from Main Street to Keyes Road
- **10.** Montpelier Road from 2 miles North of Keyes Road to Merced County; including Keyes Road from 150ft West of Montpelier Road to 150ft East of Montpelier Road
- **11.** Valley Home Road from State Route 120 to 2 miles South of San Joaquin County

Approval to Award Contract to George Reed, Inc., of Modesto, California, for the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151) and Increase Appropriations in the Project Account

Alternate A

12. Rodden Road from Cimarron Trail to Orange Blossom Road

Alternate B

13. Orange Blossom Road from the Stanislaus River to Horseshoe Road

Alternate C

14. 26 Mile Road from Dodds Road to Sonora Road

The following road is to be excluded from resurfacing project due to fiscal constraints:

Alternate D

15. Monte Vista Avenue from Hickman Road to 2 miles East

On July 22, 2008 the Board of Supervisors approved and adopted the plans and specifications for the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151) and directed the Clerk to publish the notice inviting bids.

On August 20, 2008, three sealed bids were received, publicly read and opened. A summary of the bids follows:

Contractor George Reed, Inc.	Base Bid \$2,467,677.23	Alt A \$491,687.88	Alt B A \$250,454.89	Alt C \$402,207.23	Alt D * \$196,067.52	TOTAL Base+A+B+C \$3,612,027.23
Granite Construction	\$2,838,004.55	\$571,781.60	\$297,107.80	\$474,737.15	\$217,775.25	\$4,181,631.10
Teichert Construction	\$2,646,002.55	\$524,701.00	\$269,487.00	\$455,171.75	\$206,816.65	\$3,895,362.30

*Bid Alternate D is not included in the Total.

Following the reading of the bids, the names were removed from the bid summary sheet and taken to a three person committee to make the final decision of which bid would be accepted as the apparent low bidder.

The Base Bid and Alternatives A, B, and C were chosen to fit within the allotted funding. Alternative D was unable to be added to the project due to fiscal constraints. However, staff is exploring additional funding sources to possibly be able to include Alternative D.

The engineer's estimate for the completed project, including all alternates was \$3,738,727. The project is anticipated to begin construction on October 14, 2008 and end on November 25, 2008.

Approval to Award Contract to George Reed, Inc., of Modesto, California, for the Federal Regional Surface Transportation Road Resurfacing Program A, Federal Aid Project No. STPL-5938(151) and Increase Appropriations in the Project Account

POLICY ISSUES

The Board should consider if the recommended actions are consistent with its priorities of providing a safe community, a healthy community and a well-planned infrastructure system. Furthermore, the Board should decide if it should authorize the Director of Public Works to issue change orders in accordance with Public Contract Code, Section 20142.

STAFFING IMPACT

There is no staffing impact associated with this item.

AM:sr L:\ROADS\9438 - RSTP Road Resurfacing Program\Phase I\Design Division\Board Items\Award Project (Draft #3)George Reed 9-9-08.doc

AUDITOR-CONTROLLER BUDGET JOURNAL

Categ Source Budg Batch Journ Journ Perio	ce ency let Name n Name nal Name nal descr		PW DKH Transfer Se	BUDGET		rogram A p	project	BO#	Stanislaus County
			Coding S				Debit	Credit	
Line	Fund	Org 7	Account 5	G/L Proj 7	Loc 6	Misc 6	incr appropriations decr est revenue	decr appropriations incr est revenue	Description
1	4	40310		0	0	0	3,256,660.23		Decrease est rev
2	1102	40310		9438	0	0	0,200,000.20	3,256,660.23	Increase est rev
3	1102		63280	9438	0	0	4,018,027.23		Increase appropriations
4	1102	40310		0	0	0		761,367.00	Decrease approp
5	1102	40310		0	0	0		3,256,660.23	Decrease approp
6									
7									
8									
9									
10									
11									
12									
13									
14									
15		· · ·	-						
16									
17									
18						-			
19		-							
20									
21									
22 23									
23							-		
25								· · · ·	
20			1			Totals	7,274,687.46	7,274,687.46	
	notion	Transfer bu		STD Drogr			L.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		J
Expia			uger to R	STF Flogi	ani A pro				
Deal	uncting [Department	1.		-CEO			Audito	rs Office Only
Negl			N	1	20	>>		Audito	Aller
	Diane F		! .	>		Andre Annotation for a state of the			
	Signature 9/3/	08		9131	Signature			Prepared By	Admin Approval (\$75K+) 9 3 い を
	Date			<u>וכוי</u>	Date			Date	Date
						I			
Diane	e Haugh 5-	7534							
Conta	ct Person &	& Phone Numb	er						

Page 1 of _____

STANISLAUS COUNTY PUBLIC WORKS ENGINEERING DIVISION 1716 MORGAN ROAD MODESTO, CA 95358

TRANSMITTAL

Date: September 17, 2008

To: Suzi Seibert, Assistant Clerk of the Board

Re: Attachments for Item *C-2, September 9, 2008

From: Linda Allsop, Morgan Road 209-525-4157

Hi Suzi:

-

Enclosed are the attachments for Item *C-2, September 9, 2008 - Award contract to George Reed, Inc., for the Federal Regeional Surface Transportation Road Resurfacing Progra A.

- All submitted bids
- Agreement with George Reed, Inc.
- Bid results

Have a good day!

AGREEMENT

THIS AGREEMENT, dated this <u>9</u> day of <u>September, 2008</u>, by and between <u>George Reed, Inc.</u> whose place of business is located at <u>140 Empire Ave, Modesto, CA</u> <u>95354</u> ("Contractor"), and the COUNTY OF STANISLAUS ("County"), acting under and by virtue of the authority vested in the County by the laws of the State of California.

WHEREAS, County, by its Resolution No. 2008-647 adopted on the <u>9</u>⁴⁴ day of <u>September</u>, 2008 awarded to Contractor the following Contract:

CONTRACT NUMBER 2008-04

RSTP ROAD RESURFACING PROGRAM A, FEDERAL-AID PROJECT NO. STPL-5938(151)

NOW, THEREFORE, in consideration of the mutual covenants hereinafter set forth, Contractor and County agree as follows:

Article 1. Work

1.1 Contractor shall complete all Work specified in the Contract Documents, in accordance with the Specifications, Drawings, and all other terms and conditions of the Contract Documents.

Article 2. Architect/Engineer and Project Manager

- 2.1 Andrew Malizia designed the Project and furnished the Plans and Specifications. Andrew Malizia shall have the rights assigned to Architect/Engineer in the Contract Documents.
- 2.2 County has designated David Leamon, P.E. as its Project Manager to act as County's Representative in all matters relating to the Contract Documents.
- 2.3 The County may assign all or part of the Project Manager's rights, responsibilities and duties to a Construction Manager.

Article 3. Contract Time and Liquidated Damages

3.1 Contract Time

Contractor shall commence Work on the date established in the Notice to Proceed. County reserves the right to modify or alter the Commencement Date of the Work.

Contractor shall achieve Final Completion of the entire Work and be ready for Final Payment in accordance with Contract Closeout 30 Working Days from the date when the Contract Time commences to run as provided in General Conditions.

3.2 Liquidated Damages

County and Contractor recognize that time is of the essence of this Agreement and that County will suffer financial loss in the form of Contract administration expenses (such as Project management and consultant expenses), if all or any part of the Work is not completed within the times specified above, plus any extensions thereof allowed in accordance with the Contract Documents. Contractor and County agree that because of the nature of the Project, it would be impractical or extremely difficult to fix the amount of actual damages incurred by County because of a delay in completion of all or any part of the Work. Accordingly, County and Contractor agree that as liquidated damages for delay Contractor shall pay County:

3.2.1 Two-thousand and five-hundred dollars (\$2,500.00) for each Calendar Day that expires after the time specified herein for Contractor to achieve Final Completion of the entire Work, until achieved.

Lliquidated damages shall apply cumulatively and except as provided below, shall be presumed to be the damages suffered by County resulting from delay in completion of the Work.

3.3 Liquidated damages for delay shall only cover administrative, overhead, interest on bonds, and general loss of public use damages suffered by County as a result of delay. Liquidated damages shall not cover the cost of completion of the Work, damages resulting from Defective Work, lost revenues or costs of substitute facilities, or damages suffered by others who then seek to recover their damages from County (for example, delay claims of other contractors, subcontractors, tenants, or other third-parties), and defense costs thereof.

Article 4. Contract Sum

4.1 County shall pay Contractor the Contract Sum for completion of Work in accordance with Contract Documents as set forth in Contractor's Bid.

Article 5. Contractor's Representations

In order to induce County to enter into this Agreement, Contractor makes the following representations and warranties:

- 5.1 Contractor has visited the Site and has examined thoroughly and understood the nature and extent of the Contract Documents, Work, Site, locality, actual conditions, as-built conditions, and all local conditions, and federal, state and local laws and regulations that in any manner may affect cost, progress, performance or furnishing of Work or which relate to any aspect of the means, methods, techniques, sequences or procedures of construction to be employed by Contractor and safety precautions and programs incident thereto.
- 5.2 Contractor has examined thoroughly and understood all reports of exploration and tests of subsurface conditions, as-built drawings, drawings, products specifications or reports, available for Bidding purposes, of physical conditions, including Underground Facilities, which have been made available for Bidders or which may appear in the Drawings. Contractor accepts the determination set forth in these Documents of the limited extent of the information contained in such materials upon which Contractor may be entitled to rely. Contractor agrees that except for the information so identified, Contractor does not and shall not rely on any other information contained in such reports and drawings.
- 5.3 Contractor has conducted or obtained and has understood all such examinations, investigations, explorations, tests, reports and studies (in addition to or to supplement those referred to in Section 5.2 of this Document that pertain to the subsurface conditions, as-built conditions, Underground Facilities and all other physical conditions at or contiguous to the Site or otherwise that may affect the cost, progress, performance or furnishing of Work, as Contractor considers necessary for the performance or furnishing of Work at the Contract Sum, within the Contract Time and in accordance with the other terms and conditions; and no additional examinations, investigations, explorations, tests, reports, studies or similar information or data are or will be required by Contractor for such purposes.
- 5.4 Contractor has correlated its knowledge and the results of all such observations, examinations, investigations, explorations, tests, reports and studies with the terms and conditions of the Contract Documents.

,

Article 6. Contract Documents

6.1 Contract Documents consist of the following documents, including all changes, Addenda, and Modifications thereto:

Notice of Award Agreement Notice to Proceed Special Provisions Construction Performance Bond Construction Labor and Material Payment Bond General Conditions Supplementary General Conditions Addenda Construction Details Drawings Encroachment Permit [If applicable]

6.2 There are no Contract Documents other than those listed in this Document, Article 6. The Contract Documents may only be amended, modified or supplemented as provided in General Conditions.

Article 7. Indemnity

- 7.1 County and each of its officers, employees, consultants and agents including, but not limited to the Board, Architect/Engineer and each County Representative, shall not be liable or accountable in any manner for loss or damage that may happen to any part of the Work; loss or damage to materials or other things used or employed in performing the Work; injury, sickness, disease, or death of any person; or damage to property resulting from any cause whatsoever except their sole negligence, willful misconduct or active negligence, attributable to performance or character of the Work, and Contractor releases all of the foregoing persons and entities from any and all such claims.
- 7.2 To the furthest extent permitted by law (including without limitation California Civil Code Section 2782), Contractor shall assume defense of, and indemnify and hold harmless, County and each of its officers, employees, consultants and agents, including but not limited to the Board, Architect/Engineer and each County representative, from claims, suits, actions, losses and liability of every kind, nature and description, including but not limited to claims and fines of regulatory agencies and attorney's fees and consultant's fees, directly or indirectly arising out of, connected with or resulting from performance of the Work, failure to perform the Work, or condition of the Work which is caused in whole or part by any act or omission of Contractor, Subcontractors, anyone directly or indirectly employed by any of them or anyone for whose acts any of

them may be liable, regardless of whether it is caused in part by the negligence of County or by any person or entity required to be indemnified hereunder.

- 7.3 With respect to third-party claims against Contractor, Contractor waives any and all rights to any type of express or implied indemnity against County and each of its officers, employees, consultants and agents including, but not limited to County, the Board, Architect/Engineer and each County representative.
- 7.4 Approval or purchase of any insurance contracts or policies shall in no way relieve from liability nor limit the liability of Contractor, its Subcontractors of any tier, or the officers or agents of any of them.
- 7.5 To the furthest extent permitted by law (including, without limitation, Civil Code Section 2782), the indemnities, releases of liability and limitations of liability, claims procedures, and limitations of remedy expressed throughout the Contract Documents shall apply even in the event of breach of contract, negligence (active or passive), fault or strict liability of the party(is) indemnified, released, or limited in liability, and shall survive the termination, rescission, breach, abandonment, or completion of the Work or the terms of the Contract Documents. If Contractor fails to perform any of these defense or indemnity obligations, County may in its discretion back charge Contractor for County's costs and damages resulting therefrom and withhold such sums from progress payments or other contract moneys which may become due.
- 7.6 The indemnities in the Contract Documents shall not apply to any indemnified party to the extent of its sole negligence or willful misconduct; nor shall they apply to County or other indemnified party to the extent of its active negligence.

Article 8. Miscellaneous

- 8.1 Terms and abbreviations used in this Agreement are defined in Special Provisions, Section 1: SPECIFICATIONS AND PLANS and will have the meaning indicated therein.
- 8.2 It is understood and agreed that in no instance are the persons signing this Agreement for or on behalf of County or acting as an employee, agent, or representative of County, liable on this Agreement or any of the Contract Documents, or upon any warranty of authority, or otherwise, and it is further understood and agreed that liability of the County is limited and confined to such liability as authorized or imposed by the Contract Documents or applicable law.
- 8.3 Contractor shall not assign any portion of the Contract Documents, and may subcontract portions of the Contract Documents only in compliance with the Subcontractor Listing Law, California Public Contract Code §4100 *et seq*.
- 8.4 The Contract Sum includes all allowances (if any).

- 8.5 In entering into a public works contract or a subcontract to supply goods, services or materials pursuant to a public works contract, Contractor or Subcontractor offers and agrees to assign to the awarding body all rights, title and interest in and to all causes of action it may have under Section 4 of the Clayton Act (15 U.S.C. §15) or under the Cartwright Act (Chapter 2 (commencing with §16700) of Part 2 of Division 7 of the Business and Professions Code), arising from purchases of goods, services or materials pursuant to the public works contract or the subcontract. This assignment shall be made and become effective at the time County tenders final payment to Contractor, without further acknowledgment by the parties.
- 8.6 Copies of the general prevailing rates of per diem wages for each craft, classification, or type of worker needed to execute the Contract, as determined by Director of the State of California Department of Industrial Relations, are deemed included in the Contract Documents and on file at County's Office, and shall be made available to any interested party on request. Pursuant to California Labor Code §1861, Contractor represents that it is aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that Code, and Contractor shall comply with such provisions before commencing the performance of the Work of the Contract Documents.
- 8.7 Should any part, term or provision of this Agreement or any of the Contract Documents, or any document required herein or therein to be executed or delivered, be declared invalid, void or unenforceable, all remaining parts, terms and provisions shall remain in full force and effect and shall in no way be invalidated, impaired or affected thereby. If the provisions of any law causing such invalidity, illegality or unenforceability may be waived, they are hereby waived to the end that this Agreement and the Contract Documents may be deemed valid and binding agreements, enforceable in accordance with their terms to the greatest extent permitted by applicable law. In the event any provision not otherwise included in the Contract Documents is required to be included by any applicable law, that provision is deemed included herein by this reference (or, if such provision is required to be included in that portion).
- 8.8 This Agreement and the Contract Documents shall be deemed to have been entered into in the County of Stanislaus, State of California, and governed in all respects by California law (excluding choice of law rules). The exclusive venue for all disputes or litigation hereunder shall be in Stanislaus County Superior Court. Contractor accepts the Claims Procedure in General Conditions, as a claims procedure by agreement under the California Government Code, Title 1, Division 3.6, Part 3, Chapter 5.

.

IN WITNESS WHEREOF the parties have executed this Agreement in quadruplicate the day and year first above written.

COUNTY OF STANISLAUS

. .

Bv:

Matthew Machado, Director of Public Works

CONTRACTOR: __GEORGE_REED_INC.

By: Its:

BILL FARIS, VICE PRESIDENT Title (If Corporation: Chairman, President or Vice President)

APPROVED AS TO FORM Michael H. Krausnick, County Counsel By:

Thomas E. Boze, Deputy County Counsel

Kai R. Mari Bv:

Its: <u>ROSIE MARTINEZ</u>, <u>SECRETARY/TREASURER</u> Title (If Corporation: Secretary, Assistant Secretary, Chief Financial Officer or Assistant Treasurer)

COUNTY RESOLUTION NO. 2008-647

END OF DOCUMENT

STANISLAUS COUNTY PUBLIC WORKS

RSTP ROAD RESURFACING PROGRAM A FEDERAL-AID PROJECT NO. STPL-5938(151)

Bid Opening: August 20, 2008

As Corrected

ENGINEER'S ESTIMATE: \$3,738,727.03

AWARDED TO GEORGE REED, INC. September 9, 2008 for \$3,612,027.23 (BASE + A + B + C)

								TOTAL
No.	Contractor	Address	Base Bid	Alt A	Alt B	Alt C	Alt D	Base+A+B+C+D
1	George Reed, Inc.	P.O. Box 4760 Modesto, CA 95352	\$2,467,677.23	\$491,687.88	\$250,454.89	\$402,207.23	\$196,067.52	\$3,808,094.75
	Striping Sub: Sudhaker Co. Inc.	1450 Fitzgerald Ave Rialto, CA 92376						
2	Granite Construction	P.O. Box 151 Stockton, CA 95201	\$2,838,004.55	\$571,781.60	\$297,107.80	\$474,737.15	\$217,775.25	\$4,399,406.35
	Striping Sub: Sudhaker Co. Inc.	1450 Fitzgerald Ave Rialto, CA 92376		•				
3	Teichert Construction	835 South Kilroy Road Turlock, CA 95380	\$2,646,002.55	\$524,701.00	\$269,487.00	\$455,171.75	\$206,816.65	\$4,102,178.95
	Striping Sub: Sudhaker Co. Inc.	1450 Fitzgerald Ave Rialto, CA 92376						

STANISLAUS COUNTY PUBLIC WORKS DEPARTMENT

RSTP ROAD RESURFACING PROGRAM A FEDERAL-AID PROJECT NO. STPL-5938(151)

STANISLAUS COUNTY **Engineer's Estimate** George Reed Inc Granite Construction Teichert Construction NO. QUANTITY UNIT ITEM PRICE TOTAL PRICE TOTAL PRICE PRICE TOTAL TOTAL 1 MOBILIZATION L.S. \$13,750.00 \$13,750.00 \$15,000.00 \$15,000.00 \$97,000.00 \$97,000.00 \$24,000.00 \$24,000.00 1 WATER POLLUTION CONTROL (WPC) (SWPPP) 2 1 L.S. \$2,200.00 \$2,200.00 \$3,300.00 \$3,300.00 \$200.00 \$200.00 \$5,000.00 \$5,000.00 3 TRAFFIC CONTROL SYSTEM 1 L.S. \$49,500.00 \$49,500.00 \$80,000.00 \$80,000.00 \$100,000.00 \$100,000.00 \$50,600.00 \$50,600.00 RAISE EXISTING UTILITIES TO GRADE \$4,400.00 \$4,400.00 \$22,000.00 \$22,000.00 4 1 L.S. \$18,000.00 \$18,000.00 \$21,000.00 \$21,000.00 THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 6 48,638 5 FT \$0.33 \$16,050.54 \$0.36 \$17,509.68 \$0.35 \$17,023.30 \$0.35 \$17,023.30 THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 19 6 24,347 FT \$0.55 \$13,390.85 \$0.57 \$13,877.79 \$0.55 \$13,390.85 \$0.55 \$13,390.85 7 THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 22 32,603 FT \$0.83 \$27,060.49 \$16,953.56 \$0.52 \$0.50 \$16,301.50 \$16,301.50 \$0.50 THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 27b 8 213,086 FT \$0.39 \$83,103.54 \$0.16 \$34,093.76 \$0.15 \$31,962.90 \$0.15 \$31,962.90 9 THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 29 1.255 FT \$0.44 \$552.20 \$1.04 \$1.305.20 \$1.00 \$1,255.00 \$1.00 \$1,255.00 10 THERMOPLASTIC PAVEMENT MARKINGS 8.250 S.F. \$5.50 \$45,375.00 \$3.64 \$30,030,00 \$3.50 \$28,875.00 \$3.50 \$28,875,00 11 PAVEMENT MARKERS TYPE D 4.344 EA \$3.52 \$15,290.88 \$3.12 \$13,553.28 \$3.00 \$13,032.00 \$3.00 \$13,032.00 12 PAVEMENT MARKERS TYPE H 1.015 EA \$3.52 \$3,572.80 \$3.12 \$3,166.80 \$3.00 \$3,045.00 \$3.00 \$3,045.00 13 PAVEMENT MARKERS TYPE A 544 EA \$1,914.88 \$1,697.28 \$1,632.00 \$3.52 \$3.12 \$3.00 \$1,632.00 \$3.00 14 PAINT PARKING STALL 1,476 FT \$1.65 \$2,435.40 \$2.08 \$3,070.08 \$2.00 \$2,952.00 \$2.00 \$2,952.00 15 COLD PLANE HMA CONCRETE PAVEMENT 1,387 S.Y. \$13.20 \$18,308,40 \$34.40 \$47,712.80 \$26.00 \$36.062.00 \$30.00 \$41.610.00 16 HOT MIX ASPHALT CONCRETE - 'TYPE A' DENSE 26,802 TONS \$71.50 \$1,916,343.00 \$73.50 \$1,969,947.00 \$86.50 \$2,318,373.00 \$79.00 \$2,117,358.00 17 IMPORTED MATERIAL (SHOULDER BACKING) \$20.00 \$37.00 6.945 TONS \$31.90 \$221,545,50 \$28.00 \$194,460.00 \$138,900.00 \$256,965.00 SUBTOTAL: \$2,434,793,48 \$2,467,677.23 \$2,838,004.55 \$2,646,002.55

BASE BID

ALTERNATIVE A

	STANISLAUS COUNTY		Engineer's Estimate		George Reed Inc		Granite Co	nstruction	Teichert Construction		
NO.	ITEM	QUANTITY	UNIT	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	MOBILIZATION	1	L.S.	\$1,650.00	\$1,650.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1	L.S.	\$550.00	\$550.00	\$1,120.00	\$1,120.00	\$25.00	\$25.00	\$1,500.00	\$1,500.00
3	TRAFFIC CONTROL SYSTEM	1	L.S.	\$2,200.00	\$2,200.00	\$3,100.00	\$3,100.00	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00
4	RAISE EXISTING UTILITIES TO GRADE	1	L.S.	\$550.00	\$550.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$2,400.00	\$2,400.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 6	16,700	FT	\$0.33	\$5,511.00	\$0.36	\$6,012.00	\$0.35	\$5,845.00	\$0.35	\$5,845.00
6	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 19	2,845	FT	\$0.55	\$1,564.75	\$0.68	\$1,934.60	\$0.65	\$1,849.25	\$0.65	\$1,849.25
7	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 22	5,455	FT	\$0.83	\$4,527.65	\$0.68	\$3,709.40	\$0.65	\$3,545.75	\$0.65	\$3,545.75
8	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 27b	49,220	FT	\$0.39	\$19,195.80	\$0.19	\$9,351.80	\$0.18	\$8,859.60	\$0.20	\$9,844.00
9	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 29	0	FT	\$0.44	\$0.00	\$1.04	\$0.00	\$0.00	\$0.00		\$0.00
10	THERMOPLASTIC PAVEMENT MARKINGS	314	S.F.	\$5.50	\$1,727.00	\$4.16	\$1,306.24	\$4.00	\$1,256.00	\$4.00	\$1,256.00
11	PAVEMENT MARKERS TYPE D	863	EA	\$3.52	\$3,037.76	\$3.12	\$2,692.56	\$3.00	\$2,589.00	\$3.00	\$2,589.00
12	PAVEMENT MARKERS TYPE H	119	EA	\$3.52	\$418.88	\$3.12	\$371.28	\$3.00	\$357.00	\$3.00	\$357.00
13	PAVEMENT MARKERS TYPE A	0	EA	\$3.52	\$0.00	\$3.12	\$0.00	\$0.00	\$0.00		\$0.00
14	PAINT PARKING STALL	0	FT	\$0.00	\$0.00	\$2.08	\$0.00	\$0.00	\$0.00		\$0.00
15	COLD PLANE HMA CONCRETE PAVEMENT	60	S.Y.	\$13.20	\$792.00	\$80.00	\$4,800.00	\$26.00	\$1,560.00	\$80.00	\$4,800.00
16	HOT MIX ASPHALT CONCRETE - 'TYPE A' DENSE GRADE	6,085	TONS	\$71.50	\$435,077.50	\$74.00	\$450,290.00	\$87.00	\$529,395.00	\$79.00	\$480,715.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0	TONS	\$31.90	\$0.00	\$28.00	\$0.00	\$0.00	\$0.00		\$0.00
			SUBTOTAL:		\$476,802.34		\$491,687.88		\$571,781.60		\$524,701.00

ALTERNATIVE B

	STANISLAUS COUNTY			Engineer's	Estimate	George F	Reed Inc	Granite Co	nstruction	Teichert Construction	
NO.	ITEM	QUANTITY	UNIT	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	MOBILIZATION	1	L.S.	\$1,650.00	\$1,650.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1	L.S.	\$550.00	\$550.00	\$1,150.00	\$1,150.00	\$25.00	\$25.00	\$1,500.00	\$1,500.00
3	TRAFFIC CONTROL SYSTEM	1	L.S.	\$2,200.00	\$2,200.00	\$3,150.00	\$3,150.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
4	RAISE EXISTING UTILITIES TO GRADE	1	L.S.	\$550.00	\$550.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 6	750	FT	\$0.33	\$247.50	\$0.37	\$277.50	\$0.35	\$262.50	\$0.35	\$262.50
6	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 19	2,768	FT	\$0.55	\$1,522.40	\$0.58	\$1,605.44	\$0.55	\$1,522.40	\$0.55	\$1,522.40
7	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 22	9,962	FT	\$0.83	\$8,268.46	\$0.58	\$5,777.96	\$0.55	\$5,479.10	\$0.55	\$5,479.10
8	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 27b	26,960	FT	\$0.39	\$10,514.40	\$0.19	\$5,122.40	\$0.18	\$4,852.80	\$0.20	\$5,392.00
9	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 29	0	FT	\$0.44	\$0.00	\$1.04	\$0.00	\$0.00	\$0.00		\$0.00
10	THERMOPLASTIC PAVEMENT MARKINGS	53	S.F.	\$5.50	\$291.50	\$1.05	\$55.65	\$1.00	\$53.00	\$1.00	\$53.00
11	PAVEMENT MARKERS TYPE D	905	EA	\$3.52	\$3,185.60	\$3.14	\$2,841.70	\$3.00	\$2,715.00	\$3.00	\$2,715.00
12	PAVEMENT MARKERS TYPE H	116	EA	\$3.52	\$408.32	\$3.14	\$364.24	\$3.00	\$348.00	\$3.00	\$348.00
13	PAVEMENT MARKERS TYPE A	0	EA	\$3.52	\$0.00	\$3.12	\$0.00	\$0.00	\$0.00		\$0.00
14	PAINT PARKING STALL	0	FT	\$0.00	\$0.00	·\$2.08	\$0.00	\$0.00	\$0.00		\$0.00
15	COLD PLANE HMA CONCRETE PAVEMENT	0	S.Y.	\$13.20	\$0.00	\$34.40	\$0.00	\$0.00	\$0.00		\$0.00
16	HOT MIX ASPHALT CONCRETE - 'TYPE A' DENSE GRADE	3,015	TONS	\$71.50	\$215,572.50	\$74.00	\$223,110.00	\$90.00	\$271,350.00	\$81.00	\$244,215.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0	TONS	\$31.90	\$0.00	\$28.00	\$0.00	\$0.00	\$0.00		\$0.00
			SUBTOTAL:		\$244,960.68		\$250,454.89		\$297,107.80		\$269,487.00
		-				Bid Amount:	\$251,024.89				

ALTERNATIVE C

	STANISLAUS COUNTY			Engineer's	Estimate	George F	Reed Inc	Granite Cor	nstruction	Teichert Construction	
NO.	ITEM	QUANTITY	UNIT	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	MOBILIZATION	1	L.S.	\$1,650.00	\$1,650.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1	L.S.	\$550.00	\$550.00	\$1,150.00	\$1,150.00	\$25.00	\$25.00	\$1,500.00	\$1,500.00
3	TRAFFIC CONTROL SYSTEM	1	L.S.	\$2,200.00	\$2,200.00	\$3,100.00	\$3,100.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00
4	RAISE EXISTING UTILITIES TO GRADE	1	L.S.	\$550.00	\$550.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$600.00	\$600.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 6	9,930	FT	\$0.33	\$3,276.90	\$0.37	\$3,674.10	\$0.35	\$3,475.50	\$0.35	\$3,475.50
6	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 19	5,055	FT	\$0.55	\$2,780.25	\$0.58	\$2,931.90	\$0.55	\$2,780.25	\$0.55	\$2,780.25
7	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 22	4,645	FT	\$0.83	\$3,855.35	\$0.63	\$2,926.35	\$0.60	\$2,787.00	\$0.60	\$2,787.00
8	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 27b	39,230	FT	\$0.39	\$15,299.70	\$0.19	\$7,453.70	\$0.18	\$7,061.40	\$0.20	\$7,846.00
9	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 29	0	FT	\$0.44	\$0.00	\$1.04	\$0.00	\$0.00	\$0.00		\$0.00
10	THERMOPLASTIC PAVEMENT MARKINGS	110	S.F.	\$5.50	\$605.00	\$1.05	\$115.50	\$1.00	\$110.00	\$1.00	\$110.00
11	PAVEMENT MARKERS TYPE D	701	EA	\$3.52	\$2,467.52	\$3.14	\$2,201.14	\$3.00	\$2,103.00	\$3.00	\$2,103.00
12	PAVEMENT MARKERS TYPE H	211	EA	\$3.52	\$742.72	\$3.14	\$662.54	\$3.00	\$633.00	\$3.00	\$633.00
13	PAVEMENT MARKERS TYPE A	0	EA	\$3.52	\$0.00	\$3.12	\$0.00	\$0.00	\$0.00		\$0.00
14	PAINT PARKING STALL	0	FT	\$0.00	\$0.00	\$2.08	\$0.00	\$0.00	\$0.00		\$0.00
15	COLD PLANE HMA CONCRETE PAVEMENT	30	S.Y.	\$13.20	\$396.00	\$160.00	\$4,800.00	\$26.00	\$780.00	\$300.00	\$9,000.00
16	HOT MIX ASPHALT CONCRETE - 'TYPE A' DENSE GRADE	5,086	TONS	\$71.50	\$363,649.00	\$72.00	\$366,192.00	\$87.00	\$442,482.00	\$79.50	\$404,337.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0	TONS	\$31.90	\$0.00	\$28.00	\$0.00	\$0.00	\$0.00		\$0.00
			SUBTOTAL:		\$398,022.44		\$402,207.23		\$474,737.15		\$445,171.75
						Did Americate	\$400.044.00				

Bid Amount: \$400,911.23

.

.

ALTERNATIVE D

٠

	STANISLAUS COUNTY		Engineer's	Estimate	George F	Reed Inc	Granite Co	nstruction	Teichert Construction		
NO.	ITEM	QUANTITY	UNIT	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	MOBILIZATION	1	L.S.	\$1,650.00	\$1,650.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1	L.S.	\$550.00	\$550.00	\$1,150.00	\$1,150.00	\$25.00	\$25.00	\$1,500.00	\$1,500.00
3	TRAFFIC CONTROL SYSTEM	1	L.S.	\$2,200.00	\$2,200.00	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	RAISE EXISTING UTILITIES TO GRADE	1	L.S.	\$550.00	\$550.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 6	6,025	FT	\$0.33	\$1,988.25	\$0.37	\$2,229.25	\$0.35	\$2,108.75	\$0.35	\$2,108.75
6	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 19	3,998	FT	\$0.55	\$2,198.90	\$0.58	\$2,318.84	\$0.55	\$2,198.90	\$0.55	\$2,198.90
7	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 22	540	FT	\$0.83	\$448.20	\$0.63	\$340.20	\$0.60	\$324.00	\$0.60	\$324.00
8	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 27b	21,120	FT	\$0.39	\$8,236.80	\$0.19	\$4,012.80	\$0.18	\$3,801.60	\$0.20	\$4,224.00
9	THERMOPLASTIC STRIPING (SPRAYABLE) - DETAIL 29	0	FT	\$0.44	\$0.00	\$1.04	\$0.00	\$0.00	\$0.00		\$0.00
10	THERMOPLASTIC PAVEMENT MARKINGS	127	S.F.	\$5.50	\$698.50	\$1.05	\$133.35	\$1.00	\$127.00	\$1.00	\$127.00
11	PAVEMENT MARKERS TYPE D	255	EA	\$3.52	\$897.60	\$3.14	\$800.70	\$3.00	\$765.00	\$3.00	\$765.00
12	PAVEMENT MARKERS TYPE H	167	EA	\$3.52	\$587.84	\$3.14	\$524.38	\$3.00	\$501.00	\$3.00	\$501.00
13	PAVEMENT MARKERS TYPE A	0	EA	\$3.52	\$0.00	\$3.12	\$0.00	\$0.00	\$0.00		\$0.00
14	PAINT PARKING STALL	0	FT	\$0.00	\$0.00	\$2.08	\$0.00	\$0.00	\$0.00		\$0.00
15	COLD PLANE HMA CONCRETE PAVEMENT	20	S.Y.	\$13.20	\$264.00	\$237.50	\$4,750.00	\$26.00	\$520.00	\$300.00	\$6,000.00
16	HOT MIX ASPHALT CONCRETE - 'TYPE A' DENSE GRADE	2,292	TONS	\$71.50	\$163,878.00	\$74.00	\$169,608.00	\$87.00	\$199,404.00	\$79.00	\$181,068.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0	TONS	\$31.90	\$0.00	\$28.00	\$0.00	\$0.00	\$0.00		\$0.00
			SUBTOTAL:		\$184,148.09		\$196,067.52		\$217,775.25		\$206,816.65
	TO	TAL (BASE +	A + B + C + D		\$3,738,727.03		\$3,808,094.75		\$4,399,406.35		\$4,092,178.95

.

PROPOSAL

STANISLAUS COUNTY BOARD OF SUPERVISORS

FOR THE CONSTRUCTION OF

RSTP ROAD RESURFACING PROGRAM A STPL-5938(151)

NAME OF BIDDER	GEORGE REED INC.
BUSINESS P.O. BOX	P.O. BOX 4760
CITY, STATE, ZIP	MODESTO, CA 95352
BUSINESS STREET ADDR	ESS <u>140 EMPIRE AVENUE</u> (Please include even if P.O. Box used)
CITY, STATE, ZIP	MODESTO, CA 95354
TELEPHONE NO: AREA C	ODE ()
FAX NO: AREA CODE () _	209-523-4927
CONTRACTOR LICENSE	IO 211337

The work for which this proposal is submitted is for construction in conformance with the special provisions (including the payment of not less than the State general prevailing wage rates or Federal minimum wage rates), the project plans described below, including any addenda thereto, the contract annexed hereto, and also in conformance with the California Department of Transportation Standard Plans, dated July, 2002, the Standard Specifications, dated July, 2002, and the Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished.

The plans and specifications for the work to be done were adopted by the Board of Supervisors on **July 22, 2008**, and are entitled:

COUNTY OF STANISLAUS, DEPARTMENT OF PUBLIC WORKS INVITATION TO BIDDERS AND SPECIAL PROVISIONS; PLANS FOR THE CONSTRUCTION OF THE RSTP ROAD RESURFACING PROGRAM A STPL-5938(151)

Bids are to be submitted for the entire work. The amount of the bid for comparison purposes will be the total of all items. The bidder shall set forth for each unit basis item of work a unit price and a total for the item, and for each lump sum item a total for the item, all in clearly legible figures in the respective spaces provided for that purpose. In the case of unit basis items, the amount set forth under the "Item Total" column shall be the product of the unit price bid and the estimated quantity for the item.

In case of discrepancy between the unit price and the total set forth for a unit basis item, the unit

RSTP ROAD RESURFACING 07/08

price shall prevail, except as provided in (a) or (b), as follows:

- (a) If the amount set forth as a unit price is unreadable or otherwise unclear, or is omitted, or is the same as the amount as the entry in the item total column, then the amount set forth in the item total column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price;
- (b) Decimal Errors. If the product of the entered unit price and the estimated quantity is exactly off by a factor of ten, one hundred, etc., or one-tenth, or one-hundredth, etc. from the entered total, the discrepancy will be resolved by using the entered unit price or item total, whichever most closely approximates percentage wise the unit price or item total in the COUNTY OF STANISLAUS' Final Estimate of cost.

If both the unit price and the item total are unreadable or otherwise unclear, or are omitted, the bid may be deemed irregular. Likewise if the item total for a lump sum item is unreadable or otherwise unclear, or is omitted, the bid may be deemed irregular unless the project being bid has only a single item and a clear, readable total bid is provided.

Symbols such as commas and dollar signs will be ignored and have no mathematical significance in establishing any unit price or item total or lump sums. Written unit prices, item totals and lump sums will be interpreted according to the number of digits and, if applicable, decimal placement. Cent symbols also have no significance in establishing any unit price or item total since all figures are assumed to be expressed in dollars and/or decimal fractions of a dollar. Bids on lump sum items shall be item totals only; if any unit price for a lump sum item is included in a bid and it differs from the item total, the items total shall prevail.

The foregoing provisions for the resolution of specific irregularities cannot be so comprehensive as to cover every omission, inconsistency, error or other irregularity which may occur in a bid. Any situation not specifically provided for will be determined in the discretion of the COUNTY OF STANISLAUS, and that discretion will be exercised in the manner deemed by the COUNTY OF STANISLAUS to best protect the public interest in the prompt and economical completion of the work. The decision of the COUNTY OF STANISLAUS respecting the amount of a bid, or the existence or treatment of an irregularity in a bid, shall be final.

Accompanying this proposal shall be a bidder's bond issued by a California admitted surety, or certified or cashier's check, or cash in the amount of ten percent (10%) of the proposal as a form of bidder's security.

If this proposal shall be accepted and the undersigned shall fail to enter into the contract and furnish the 2 bonds in the sums required by the State Contract Act, with surety satisfactory to the COUNTY OF STANISLAUS, within 8 days, not including Saturdays, Sundays and legal holidays, after the bidder has received notice from the COUNTY OF STANISLAUS that the contract has been awarded, the COUNTY OF STANISLAUS may, at its option, determine that the bidder has abandoned the contract, and thereupon this proposal and the acceptance thereof shall be null and void and the forfeiture of the security accompanying this proposal shall operate and the same shall be the property of the COUNTY OF STANISLAUS.

The undersigned, as bidder, declares that the only persons or parties interested in this proposal as principals are those named herein; that this proposal is made without collusion with any other person, firm, or corporation; that he has carefully examined the location of the proposed work, the annexed proposed form of contract, and the plans therein referred to; and he proposes, and agrees if this proposal is accepted, that he will contract with the COUNTY OF STANISLAUS, in the form of the copy of the contract annexed hereto, to provide all necessary machinery, tools, apparatus and other means of construction, and to do all the work and furnish all the materials specified in the contract, in the manner and time therein prescribed, and according to the requirements of the Engineer as therein set forth, and that he will take in full payment therefor the following prices, to wit:

BID DOCUMENTS REQUIRED AT BID OPENING

It is required that the following documents must be completed, signed, and submitted with the Proposal at bid opening.

Contractor's Bid Sheet Addendum Sheet Subcontractor List Equal Employment Opportunity Certification Public Contract Code Noncollusion Affidavit Non-Discrimination of the Handicapped Debarment and Suspension Certification Disclosure of Lobbying Activities Proposal Signature Sheet Bidder's Bond

It is recommended that the following document be submitted at bid opening.

W-9 Form

Note: The above forms and documents must be completed and submitted with your bid for your bid to be accepted as complete at the bid opening. Failure to complete or provide any of the required documents will be deemed an incomplete and rejected bid.

RSTP ROAD RESURFACING 07/08

CONTRACTOR'S BID SHEET FOR RSTP ROAD RESURFACING PROGRAM A STPL-5938(151)

BASE BID

	CONTRACTOR'S BID	APPROX.		UNIT	· · · · · · · · · · · · · · · · · · ·	
NO	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL	
1	MOBILIZATION	1.00	L.S.	15,000.00	15,000.00	
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1.00	L.S.	3,300,00	330D.00	
3	TRAFFIC CONTROL SYSTEM	1.00	L.S.	80,000.00	80,000.00	
4	Raise Existing Utilities to Grade	1.00	L.S.	22,000.00	22,000.00	
5	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 6	48,638.00	Fτ	0.36	17,509.68	
6	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 19	24,347.00	FΤ	0.57	13,077.79	
7	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 22	32,603.00	FΤ	0.52	16,953.56	BE
8	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 27B	213,086.00	FΤ	0.16	34,093.73	
9	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 29	1,255.00	Fτ	1.04	1,305.20	
10	THERMOPLASTIC PAVEMENT MARKINGS	8,250.00	S.F.	3.64	30,030.00	
11	PAVEMENT MARKERS TYPE D	4,344.00	EA	3.12	13,553.28	
12	PAVEMENT MARKERS TYPE H	1,015.00	EA	3.12	3,166.80	
13	PAVEMENT MARKERS TYPE A	544.00	EA	3.12	1,697.28	
14	PAINT PARKING STALL	1,476.00	FT	2.08	3,070,08	
15	COLD PLANE HMA CONCRETE PAVEMENT	1,387.00	S.Y.	34:40	47,712.80	
16	HOT MIX ASPHALT – 'TYPE A' DENSE GRADED	26,802.00	ΤΟΝ	73.50	1,969,947.00	
17	IMPORTED MATERIAL (SHOULDER BACKING)	6,945.00	TON	28.00	194,460.00	
			TOT	TAL \$	2,467,677.23	

,

BID ALTERNATE 'A'

	CONTRACTOR'S BID	APPROX.		UNIT	
NO	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL
1	MOBILIZATION	1.00	L.S.	5,000.00	5,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1.00	L.S.	1,120.00	1,120.00
3	TRAFFIC CONTROL SYSTEM	1.00	L.S.	3,100.00	3,100.00
4	Raise Existing Utilities to Grade	1.00	L.S.	2,000.00	2,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 6	16,700.00	Fτ	0.36	6,012.00
6	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 19	2,845.00	Fτ	0.60	1,934.60
7	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 22	5,455.00	Fτ	0.100	3,709.40
8	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 27B	49,220.00	Fτ	0.19	9,351.80
9	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 29	0.00	Fτ	1.04	
10	THERMOPLASTIC PAVEMENT MARKINGS	314.00	S.F.	4.110	1.306.24
11	PAVEMENT MARKERS TYPE D	863.00	EA	312	2,692.56
12	PAVEMENT MARKERS TYPE H	119.00	EA	3.12	371.28
13	PAVEMENT MARKERS TYPE A	0.00	EA	3.12	
14	PAINT PARKING STALL	0.00	FT	2.00	
15	COLD PLANE HMA CONCRETE PAVEMENT	60.00	S.Y.	80.00	4300.00
16	HOT MIX ASPHALT 'TYPE A' DENSE GRADED	6,085.00	TON	74.00	450,290.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0.00	TON	293.00	
			TO	TAL \$	491,607.90

BID ALTERNATE 'B'

	CONTRACTOR'S BID	APPROX.		UNIT	
NO	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL
1	MOBILIZATION	1.00	L.S.	5,000.00	5,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1.00	L.S.	1,150.00	1,160.00
3	TRAFFIC CONTROL SYSTEM	1.00	L.S.	3,150.00	3,150.00
4	Raise Existing Utilities to Grade	1.00	L.S.	2,000.00	2,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 6	750.00	Fτ	0.37	277.50
6	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 19	2,768.00	Fτ	0.56	1,005.44

RSTP ROAD RESURFACING 07/08

...

7	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 22	9,962.00	Fτ	0.5A	5,777.96
8	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 27B	26,960.00	Fτ	0.19	5,692.40
9	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 29	0.00	Fτ	1.04	
10	THERMOPLASTIC PAVEMENT MARKINGS	53.00	S.F.	1.05	55.65
11	PAVEMENT MARKERS TYPE D	905.00	EA	3.14	2,841.70
12	PAVEMENT MARKERS TYPE H	116.00	EA	3.4	364.24
13	PAVEMENT MARKERS TYPE A	0.00	EA	3.12	
14	PAINT PARKING STALL	0.00	FT	2.08	
15	COLD PLANE HMA CONCRETE PAVEMENT	0.00	S.Y.	34.40	
16	HOT MIX ASPHALT – 'TYPE A' DENSE GRADED	3,015.00	TON	74.00	223,110.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0.00	TON	293.00	
	TOTAL \$251,024.99				

BID ALTERNATE 'C'

	CONTRACTOR'S BID	APPROX.	[UNIT	
NO	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL
1	MOBILIZATION	1.00	L.S.	5,000,00	5,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1.00	L.S.	1,150.00	1,150.00
3	TRAFFIC CONTROL SYSTEM	1.00	L.S.	3,100.00	3,100.00
4	Raise Existing Utilities to Grade	1.00	L.S.	2,000.00	2,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 6	9,930.00	FT	0.37	3,674.10
6	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 19	5,055.00	FT	0.58	2,931.90
7	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 22	4,645.00	Fτ	0.63	2,926.35
8	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 27B	39,230.00	FT	0.19	7,453.70
9	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 29	0.00	FΤ	1.04	
10	THERMOPLASTIC PAVEMENT MARKINGS	110.00	S.F.	1.05	115.50
11	PAVEMENT MARKERS TYPE D	701.00	EA	314	2,201.14
12	PAVEMENT MARKERS TYPE H	211.00	EA	314	662.54
13	PAVEMENT MARKERS TYPE A	0.00	EA	312	
14	PAINT PARKING STALL	0.00	FT	2.08	
15	COLD PLANE HMA CONCRETE PAVEMENT	30.00	S.Y.	160.00	4.900.00

. .

,

16	HOT MIX ASPHALT – 'TYPE A' DENSE GRADED	5,086.00	TON	72.00	364,996.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0.00	TON	290.00	
		·	TOT	Γ AL \$ 4	400,911.23

BID ALTERNATE 'D'

	CONTRACTOR'S BID	APPROX.		UNIT	
NO	DESCRIPTION	QUANTITY	UNIT	PRICE	TOTAL
1	MOBILIZATION	1.00	L.S.	5000.00	5,000.00
2	WATER POLLUTION CONTROL (WPC) (SWPPP)	1.00	L.S.	1,150.00	1,150.00
3	TRAFFIC CONTROL SYSTEM	1.00	L.S.	3,200.00	
4	Raise Existing Utilities to Grade	1.00	L.S.	2,000.00	2,000.00
5	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 6	6,025.00	Fτ	0.37	2,229.25
6	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 19	3,998.00	FT	0.5%	2,319.94
7	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 22	540.00	FT	0.63	340.20
8	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 27B	21,120.00	FΤ	0.19	4,012.30
9	THERMOPLASTIC STRIPING (SPRAYABLE) – DETAIL 29	0.00	FΤ	1.04	
10	THERMOPLASTIC PAVEMENT MARKINGS	127.00	S.F.	1.05	133.35
11	PAVEMENT MARKERS TYPE D	255.00	EA		900:70
12	PAVEMENT MARKERS TYPE H	167.00	EA	3.14	52A.30
13	PAVEMENT MARKERS TYPE A	0.00	EA	3.12	
14	PAINT PARKING STALL	0.00	FT	2.08	
15	COLD PLANE HMA CONCRETE PAVEMENT	20.00	S.Y.	237.50	4,750.00
16	HOT MIX ASPHALT – 'TYPE A' DENSE GRADED	2,292	TON	74.0D	169,600.00
17	IMPORTED MATERIAL (SHOULDER BACKING)	0.00	TON	200.00	
TOTAL \$196,007.52					

(SIGNED) VICE PRESIDENT BILL FARIS,

Date: 8/20/08

Note: All line items must have an entry placed in its appropriate box, and this form must be signed for the bid to be accepted as complete.

i.

ADDENDUM SHEET FOR RSTP ROAD RESURFACING PROGRAM A STPL-5938(151)

ADDENDUM NO1	DATED 8/14/0	8/14/0 BDATE RECEIVED	08 _ INITIALS			
ADDENDUM NO	DATED	DATE RECEIVED	_ INITIALS			
ADDENDUM NO.	DATED	DATE RECEIVED	_ INITIALS			
ADDENDUM NO	DATED	DATE RECEIVED	_ INITIALS			
ADDENDUM NO	DATED	DATE RECEIVED	_ INITIALS			
CONTRACTOR	GEORGE	REED INC.				
ADDRESS P.O. BOX 4760						
MODESTO, CA 95352						

PHONE (_______) ____523-0734 ____ FAX (______) ___523-4927 _____

(SIGNED) Date: <u>8/20/08</u> BILL FARIS, XICE PRESIDENT

Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

RSTP ROAD RESURFACING 07/08

Bid Proposal and Contract

SUBCONTRACTORS LIST

The Bidder shall list the name and address of each subcontractor to whom the Bidder proposes to subcontract portions of the work, as required by the provisions in Section 2-1.054, "Required Listing of Proposed Subcontractors," of the Standard Specifications and Section 2-1.01, "General," of the special provisions.

	Subcontractor	Business Address	Description of Portion of Work Subcontracted			
1	SUDHAKER CO. INC.	1450 FITZGERALD AVE RIALTO, CA 92376	STRIPING			
2			JIAIFING			
3						
4						
5						
6						
7						
8						
9						
10						
11						
12						
13						
14		/				
	(SIGNED) Date: 8/20/08 Note: This sheet must be completed and submitted with your bid for your					
	bid to be accepte	ed as complete.				

EQUAL EMPLOYMENT OPPORTUNITY CERTIFICATION

Note: The above certification is required by the Equal Employment Opportunity Regulations of the Secretary of Labor (41 CFR 60-1.7(b) (1)), and must be submitted by bidders and proposed subcontractors only in connection with contracts and subcontracts which are subject to the equal opportunity clause. Contracts and subcontracts which are exempt from the equal opportunity clause are set forth in 41 CFR 60-1.5. (Generally only contracts or subcontracts of \$10,000 or under are exempt.)

Currently, Standard Form 100 (EEO-1) is the only report required by the Executive Orders or their implementing regulations.

Proposed prime contractors and subcontractors who have participated in a previous contract or subcontract subject to the Executive Orders and have not filed the required reports should note that 41 CFR 60-1.7(b) (1) prevents the award of contracts and subcontracts unless such contractor submits a report covering the delinquent period or such other period specified by the Federal Highway Administration or by the Director, Office of Federal Contract Compliance, U.S. Department of Labor.

ſ	
(SIGNED) Rich France Date: 8/20/08	
BILL FARIS, VICE PRESIDENT	-

Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

PUBLIC CONTRACT CODE Public Contract Code Section 10285.1 Statement

In conformance with Public Contract Code Section 10285.1 (Chapter 376, Stats. 1985), the bidder hereby declares under penalty of perjury under the laws of the State of California that the bidder has ______, has not __X__ been convicted within the preceding three years of any offenses referred to in that section, including any charge of fraud, bribery, collusion, conspiracy, or any other act in violation of any state or Federal antitrust law in connection with the bidding upon, award of, or performance of, any public works contract, as defined in Public Contract Code Section 1101, with any public entity, as defined in Public Contract Code Section 1100, including the Regents of the University of California or the Trustees of the California State University. The term "bidder" is understood to include any partner, member, officer, director, responsible managing officer, or responsible managing employee thereof, as referred to in Section 10285.1.

Note: The bidder must place a check mark after "has" or "has not" in one of the blank spaces provided. The above Statement is part of the Proposal. Signing this Proposal on the signature portion thereof shall also constitute signature of this Statement. Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

Public Contract Code Section 10162 Questionnaire

In conformance with Public Contract Code Section 10162, the Bidder shall complete, under penalty of perjury, the following questionnaire:

Has the bidder, any officer of the bidder, or any employee of the bidder who has a proprietary interest in the bidder, ever been disqualified, removed, or otherwise prevented from bidding on, or completing a federal, state, or local government project because of a violation of law or a safety regulation?

Yes ____ No _X_

If the answer is yes, explain the circumstances in the following space.

Public Contract Code 10232 Statement

In conformance with Public Contract Code Section 10232, the Contractor, hereby states under penalty of perjury, that no more than one final unappealable finding of contempt of court by a federal court has been issued against the Contractor within the immediately preceding two year period because of the Contractor's failure to comply with an order of a federal court which orders the Contractor to comply with an order of the National Labor Relations Board.

		L.		
(SIGNED)	men,	fr	Date:	8/20/08
BILL	FARIS, VICE PRI	ESIDENT		

Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

NONCOLLUSION AFFIDAVIT (Title 23 United States Code Section 112 and Public Contract Code Section 7106)

TO THE COUNTY OF STANISLAUS DEPARTMENT OF PUBLIC WORKS

In conformance with Title 23 United States Code Section 112 and Public Contract Code 7106 the bidder declares that the bid is not made in the interest of, or on behalf of, any undisclosed person, partnership, company, association, organization, or corporation; that the bid is genuine and not collusive or sham; that the bidder has not directly or indirectly induced or solicited any other bidder to put in a false or sham bid, and has not directly or indirectly colluded, conspired, connived, or agreed with any bidder or anyone else to put in a sham bid, or that anyone shall refrain from bidding; that the bidder has not in any manner, directly or indirectly, sought by agreement, communication, or conference with anyone to fix the bid price of the bidder or any other bidder, or to fix any overhead, profit, or cost element of the bid price, or of that of any other bidder, or to secure any advantage against the public body awarding the contract of anyone interested in the proposed contract; that all statements contained in the bid are true; and, further, that the bidder has not, directly or indirectly, submitted his or her bid price or any breakdown thereof, or the contents thereof, or divulged information or data relative thereto, or paid, and will not pay, any fee to any corporation, partnership, company association, organization, bid depository, or to any member or agent thereof to effectuate a collusive or sham bid.

(SIGNED) Date: 8/20/08 Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

Bid Proposal and Contract

STANISLAUS COUNTY

NON-DISCRIMINATION OF THE HANDICAPPED

Policy Statement

In compliance with Section 51.55, Office of Revenue Sharing, Department of the Treasury, it is the policy of Stanislaus County that it will not aid or perpetuate discrimination against a qualified handicapped individual by funding an agency, organization, or person that discriminates on the basis of handicap in providing any aid, benefit, or service to beneficiaries of the program or activity.

The County is committed to provide access to all County services, programs and meetings open to the public to people with disabilities.

In this regard, County and all of its Contractors and Subcontractors will take all reasonable steps in accordance with GRS Section 51.55 to ensure that handicapped individuals have the maximum opportunity for the same level of aid, benefit or service as any other individual.

Certification

Each agency, organization, or person seeking a bid, contract or agreement with Stanislaus County shall sign a certification of compliance with Section 504 of the Rehabilitation Act of 1973 as incorporated in the Revenue Sharing Act.

CERTIFICATION OF BIDDER REGARDING NON-DISCRIMINATION OF THE HANDICAPPED

The bidder hereby certifies that he/she is in compliance with Section 504 of the Rehabilitation Act of 1973 as incorporated in the Revenue Sharing Act, the applicable administrative requirements promulgated in response thereto, and any other applicable Federal laws and regulations relating to handicap discrimination and participation.

NAME OF BIDDER	GEORGE REED INC.	
BUSINESS ADDRESS	P.O. BOX 4760	TEL. <u>209–523–07</u> 34
CITY, STATE, ZIP CODE	MODESTO, CA 95352	
BY (Signature) BILL FARIS	TITLE	VICE_PRESIDENT
DATED 8/20/88	ù	

Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

DEBARMENT AND SUSPENSION CERTIFICATION

TITLE 49, CODE OF FEDERAL REGULATIONS, PART 29

The bidder, under penalty of perjury, certifies that, except as noted below, he/she or any other

person associated therewith in the capacity of owner, partner, director, officer, manager:

- Is not currently under suspension, debarment, voluntary exclusion, or determination of ineligibility by any Federal agency;
- Has not been suspended, debarred, voluntarily excluded or determined ineligible by any Federal agency within the past 3 years;
- Does not have a proposed debarment pending; and
- Has not been indicted, convicted, or had a civil judgement rendered against it by a court of competent jurisdiction in any matter involving fraud or official misconduct within the past 3 years.

If there are any exceptions to this certification, insert the exceptions in the following space.

Exceptions will not necessarily result in denial of award, but will be considered in determining bidder responsibility. For any exception noted above, indicate below to whom it applies, initiating agency, and dates of action.

(SIGNED) Date: 8/20/08 Providing false information may/result in criminal prosecution or administrative sanctions.

Note: This sheet must be completed and submitted with your bid for your bid to be accepted as complete.

NONLOBBYING CERTIFCATION FOR FEDERAL-AID CONTRACTS

The prospective participant certifies, by signing and submitting this bid or proposal, to the best of his or her knowledge and belief, that:

- (1) No Federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of any Federal agency a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any Federal contract, the making of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any Federal contract, grant, loan, or cooperative agreement.
- (2) If any funds other than Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any Federal Agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this Federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure of Lobbying Activities," in conformance with its instructions.

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by Section 1352, Title 31, U.S. Code. Any person who fails to file the required certification shall be subject to a civil penalty of not less that \$10,000 and not more than \$100,000 for each such failure.

The prospective participant also agrees by submitting his or her bid or proposal that he or she shall require that the language or this certification be included in all lower tier subcontracts which exceed \$100,000 and that all such subrecipients shall certify and disclose accordingly.

II-22

DISCLOSURE OF L	OBBYING ACTIVITIES BYING ACTIVITIES PURSUANT TO 31 U.S.C. 1352
1. Type of Federal Action: 2. Status of Fed	
a contract b. grant c. cooperative agreement d. loan e. loan guarantee f. loan insurance	nlication a initial
4. Name and Address of Reporting Entity	5. If Reporting Entity in No. 4 is Subawardee,
Prime Subawardee Tier, if known	Enter Name and Address of Prime:
Congressional District, if known	Congressional District, if known
6. Federal Department/Agency:	7. Federal Program Name/Description:
	CFDA Number, if applicable
 Federal Action Number, if known: 10. a. Name and Address of Lobby Entity (If individual, last name, first name, MI) 	 Awara Amount, if known. Individuals Performing Services (including address if different from No. 10a) (last name, first name, MI)
(attach Continuation S	hect(s) if necessary)
11. Amount of Payment (check all that apply)	13. Type of Payment (check all that apply)
S actual planned 12. Form of Payment (check all that apply): a. cash b. in-kind; specify: nature value	a. retainer b. one-time fee c. commission d. contingent fee e deferred f. other, specify
14. Brief Description of Services Performed or to be per officer(s), employee(s) or member(s) contacted, for I	formed and Date(s) of Service, including Payment Indicated in Item 11:
. / .	n Sheet(s) if necessary)
15. Continuation Sheet(s) attached: Yes	No L
16. Information properted through this form is authorized by Title 31 U.S.C. Section 1352. This disclosure of lobbying reliance was placed by the tier above when his transaction was made or entered into. This disclosure is required pursuant to 31 U.S.C. 1352. This information will be reported to Congress semiannually and will be available for public inspection. Any person who fails to file the required disclosure shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such faikne.	Signature:
STATISTICS FOR CALLED SHARED INING.	Authorized for Local Reproduction
Federal Use Only:	Standard Form - LLL

INSTRUCTIONS FOR COMPLETION OF SF-LLL, DISCLOSURE OF LOBBYING ACTIVITIES

This disclosure form shall be completed by the reporting entity, whether subawardee or prime Federal recipient, at the initiation or receipt of covered Federal action or a material change to previous filing pursuant to title 31 U.S.C. section 1352. The filing of a form is required for such payment or agreement to make payment to lobbying entity for influencing or attempting to influence an officer or employee of any agency, a Member of Congress an officer or employee of Congress or an employee of a Member of Congress in connection with a covered Federal action. Attach a continuation sheet for additional information if the space on the form is inadequate. Complete all items that apply for both the initial filing and material change report. Refer to the implementing guidance published by the Office of Management and Budget for additional information.

- Identify the type of covered Federal action for which lobbying activity is and/or has been secured to influence, the
 outcome of a covered Federal action.
- 2. Identify the status of the covered Federal action.
- 3. Identify the appropriate classification of this report. If this is a follow-up report caused by a material change to the information previously reported, enter the year and quarter in which the change occurred. Enter the date of the last, previously submitted report by this reporting entity for this covered Federal action.
- 4. Enter the full name, address, city, state and zip code of the reporting entity. Include Congressional District if known. Check the appropriate classification of the reporting entity that designates if it is or expects to be a prime or subaward recipient. Identify the tier of the subawardee, e.g., the first subawardee of the prime is the first tier. Subawards include but are not limited to subcontracts, subgrants and contract awards under grants.
- 5. If the organization filing the report in Item 4 checks "Subawardee" then enter the full name, address, city, state and zip code of the prime Federal recipient. Include Congressional District, if known.
- Enter the name of the Federal agency making the award or loan commitment. Include at least one organization level below agency name, if known. For example, Department of Transportation, United States Coast Guard.
- Enter the Federal program name or description for the covered Federal action (item 1). If known, enter the full Catalog of Federal Domestic Assistance (CFDA) number for grants, cooperative agreements, loans and loan commitments.
- Enter the most appropriate Federal identifying number available for the Federal action identification in item 1 (e.g., Request for Proposal (RFP) number, Invitation for Bid (IFB) number, grant announcement number, the contract grant. or loan award number, the application/proposal control number assigned by the Federal agency). Include prefixes, e.g., "RFP-DE-90-001."
- 9. For a covered Federal action where there has been an award or loan commitment by the Federal agency, enter the Federal amount of the award/loan commitments for the prime entity identified in item 4 or 5.
- 10. (a) Enter the full name, address, city, state and zip code of the lobbying entity engaged by the reporting entity identified in item 4 to influenced the covered Federal action.
 (b) Enter the full names of the individual(s) performing services and include full address if different from 10 (a). Enter Last Name, First Name and Middle Initial (MI).
- 11. Enter the amount of compensation paid or reasonably expected to be paid by the reporting entity (item 4) to the lobbying entity (item 10). Indicate whether the payment has been made (actual) or will be made (planned). Check all boxes that apply. If this is a material change report, enter the cumulative amount of payment made or planned to be made.
- Check the appropriate box(es). Check all boxes that apply. If payment is made through an in-kind contribution, specify the nature and value of the in-kind payment.
- 13. Check the appropriate box(es). Check all boxes that apply. If other, specify nature.
- 14. Provide a specific and detailed description of the services that the lobbyist has performed or will be expected to perform and the date(s) of any services rendered. Include all preparatory and related activity not just time spent in actual contact with Federal officials. Identify the Federal officer(s) or employee(s) contacted or the officer(s) employee(s) or Member(s) of Congress that were contacted.
- 15. Check whether or not a continuation sheet(s) is attached.
- 16. The certifying official shall sign and date the form, print his/her name title and telephone number.

Public reporting burden for this collection of information is estimated to average 30 minutes per response, including time for reviewing instruction, searching existing data sources, gathering and maintaining the data needed, and completing and reviewing the collection of information. Send comments regarding the burden estimate or any other aspect of this collection of information, including suggestions for reducing this burden, to the Office of Management and Budget, Paperwork Reduction Project (0348-0046), Washington, D.C. 20503. SF-LLL-Instruction Rev. 06-04-90xENDFry